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Date of spelling test:

] Darwin Class Homework Term 4
(Darwin Class homework will be set on a Friday. Homework will be due in/tested on the following Friday.)
Date set This weekK’s spelling rule and spellings This week’s times tables Sumdog
and date
due in
Date set: Spelling rule: 2 x tables 1 x spelling activity
28/2/25 Adding ‘ed’ to a word’: 1x2=2
cried 2x2=4 2 ¢ 21 1 x times table
dried 3x2=6 : s : ) § activity
fried gxgi?O 8 2 = &
tried 6§2;12 10+2=5
Date due: | copied 7x2 =14 12+2=6 Date Due:
7/3/25 hurried 8x2=16 :: ‘ : - ; 7/3/25
9x2=18 %¢2s9
10x2=20 20+ 2 = 10
High frequency words: 11x2=22 2+2=M
put 12x2=24 2% +2 =12
because
could
they
Date of times table test:
Date of spelling test: 7/3/25
7/3/25
Date set: Spelling rule: 5 x table 1 x spelling activity
7/3/25 Added ‘ed’ to a word - revision:
poked 1x5=5 S+ 5 = 3 1 x times table
piled 2x5=10 Y activity
trickled 3x5=15 15 +5 =3
rotted 4x5=20 20 + 5 = &
Date due: | jogged 5x5=25 28 +86s S Date Due:
14/3/25 multiplied 6x5=30 30 + 5= 6 14/3/25
7x5=35 35 + 5 = 7
8x5=40 40 + 5 = 8
High frequency words: 9x5=45 & ¢+ 5 =9
should 10x5=50 S0 + 5 =10
beautiful 11x5=55 Sesssw
12x5=60 60 + 5 = 12
money
until
Date of times table test:
14/3/25
Date of spelling test:
14/3/25
Date set: Spelling rule: 10 x table 1 x spelling activity
14/3/25 Possessive apostrophes 1: T3 T0=T0 — % .
gran’s house 2%10 = 20 20 5 10 = 1 x times table
Sarah’s coat 3x10=30 30+ 10 = activity
Gy hoes o R
The girl’s tooth 6x10=60 60 + 10 =
Ben’s beautiful jumper 7%10=70 70 + 10 =
Date due: | The boy’s school 8x10=80 z 3 :g : Date Due:
21/3/25 0 1004108 21/3/25
High frequency words: 11x10 = 110 10+ 10 =
would 12x10=120  '20*10*
after Date of times table test:
before 21/3/25
who
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(Darwin Class homework will be set on a Friday. Homework will be due in/tested on the following Friday.)
21/3/25
1 x spelling activity
Date set: Spelling rule: 2 x table
21/3/25 Possessive apostrophes 2: 1 x times table
The lioness’s cubs 1x2=2 > '8 w8 activity
Lewis’s hair 2x2=4 2's s 3
The princess’s castle ix ; B g 6 +2 89 3
James's trousers 5 : 2 _ 10 8 +2 = & Date Due:
6x2=12 el - 25/3/25
Date due: 7x2=14 12 +2=6
28/3/25 High frequency words: 8x2=16 :: ; : ;
why 9x2=18 % 2 as
they 10x2=20 20+ 2 =10
because 11x2 =22 2+:2=mn
should 12x2=24 2 + 2 = 12
Date of spelling test:
28/3/25 Date of times table test:
Date set: Spelling rule: 5 x table 1 x spelling activity
28/3/25 High frequency words:
because 1 x times table
. 1x5=5 . ..
beautiful B S+ 5 = activity
2x5=10 10 5 = 2
put 3x5=15 ~
Date due: | house _ 15¢+5 =3
. 4 x 5 - 20 20 & s B &b
4/4/25 again 5x5 =25 2088 Date Due: 4/4/25
ev.ery 6x5=30 30 5 = 6
minute 7x5=35 %+ 5 = 7
gold 8x5=40 40 + 5 = 8
cold 9x5=45 45 + S = 9
their/there/they’re 10x5=50 50 + 5 = 10
11x5=55 56 + 5 =
12x5=60 60 + 5 = 12

Date of spelling test:

4/4/25

4/4/25

Date of times table test:




Darwin Class Homework Term 4
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(Darwin Class homework will be set on a Friday. Homework will be due in/tested on the following Friday.)

10x10 = 100 100 +10 =

12x10=120 120410 =

11x10=110 M0+10 =1

Date of times table test:

Date set: 1 x spelling activity
Spelling rule: 1 x times table
Revision of this term’s spellings: 10 x table activity
Date due:
1x10=10 10 + 10 =
. 2x10=20 20+ 10 =
High frequency words: 3x10 =30 30+ 10 = Date Due:
4x10=40 40 + 10 =
Date of spelling test: 5x10=50 50+ 10 =
6x10 =60 60 + 10 =
7x10=70 70 + 10 =
8x10=80 80 + 10 =
9x10=90 9 ¢+ 10 =




